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( Intermediate Macroeconomics—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following questions : 1x10=10
oo epeTRd e fia

(a) What is endogenous growth?

EEee [F 2

(b) Mention one assumption of Solow
model.

v w3 qbr wfSyRen Sra 49 |
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(2) (3)

(c) “Consumption function expresses the : (i) Mention one classical assumption.
?elatmnshlp bet‘.iveen consumption and <1 FIPre SFaEe S 39 |
investment.” Is it true?

‘oo T o S R e () Name one new-Keynesian economist.
29
BIRPPT FFCI | G TR ? G - (PR YNGR T e |

(d) Who introduced the permanent income ! )
hypothesis? 2. Answer the following questions : 2x5=10
Y - 1 LG weTe e 2repTaRe Teq firt -

(a) Mention two limitations of Harrod-

(e) What is inventory investment? Domar model.

' sier R &2 _ @T-T AR WA 751 TS! Twd 91 |
() What is monetary policy? (b) Mention two assumptions of rational
! expectation hypothesis.
s S 2 '

RIS roml ST or SASHRA TeEs
<4 | ;
(g9 What is time consistency of monetary

licy?
policy (0 What is ~ meant by residential
e ST 317 AT 2 investment?
wratRe R e & gam 2
(h) “Central bank of a country prepares
its fiscal policy.” Is it true or false? : (d) Mention two objectives of monetary
“om @ RN QT TR e A ome poligy:
TN R T G WPT 2 e, Y Y91 s e
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(4) 4

(e) Mention two features of new classical
thoughts.

) TIPS SRR o1 (A Tad 41 |

3. Answer any four questions from the
following : 5x4=20

woTe g 1 R e wio! ep Taw fordt

(a) Explain the limitations of Solow model.
ve o MAREOrRR I 41

(b) Explain the technical attributes of
Keynesian consumption function.

@R (9191 T PR LPTR I 51 |

(c) Briefly explain the random walk of
consumption expenditure.

Cote IR AP (IR BT I F41 |

(d) Explain the main determinants of
demand for money.

@R SR 241 R om0 |
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& (5)

(e) Distinguish between active and passive
monetary policies.

A W AT @ NI T o Fefa
9 |

() How did Keynes differ from the
classicists? Explain.

Aere FLRRFTST @D [FTS 4T ?
0T 900

4. Answer the following questions : 10x4=40
wors i 2rTRs T il

(a) Critically discuss the Harrod-Domar
growth model. '

ET-TAE R SR TICEl FRII
AL F4 |

Or / 91

Discuss the relationship between
technological progress and elements of
endogenous growth.

gfre  wefs  wE wwEwe e
TIPTES FI& TR S 391 |
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(b)

()

(@

A23/853

(6) o

Discuss critically the permanent income
hypothesis.

A SR SERIACO TCEAD TP Sl
Ll

Or / 931

What are the determinants of business
fixed investment? Discuss.

T 7 Rfcer Mefieesmz & &6 2 s
Ll

Critically  discuss the Keynesian
consumption function.

RSO (15! FEICH! ANICAS H2FICT ST
el ;
Or / &1

Discuss the ‘government budget
constraint’.

‘5FIRT ACEHG Y1 A T |

Discuss different types of government

debt. What is Ricardian equivalence?
7+3=10

Rl ¥R Rfen PR WEs 340
1SR el & 2

( Continued )

® (7)

Or / 9241

Discuss the main features of classical
school of macroeconomic thought.

TR AT SRURE TEFS (N9 &
CABPTR SACEIoeTT 341 |

A23—3000/853 3 (Sem—4/CBCS) ECO HC 2




	Page 1 
	Page 2 
	Page 3 
	Page 4 

